4 EEREE/INVIEREEEMOEH -HEROEERTICONT B84
£ D | FIXE I IVENRBE OB |IIEERSSEFBR £ FF :|AET12-12B%EE) 2-3F
R5.2.1 (B -E=EE : |[ARat =FEEE RExE L  |[ARRWE MNFF BT i 3% D |WiFE RBF
B A E B
oo 19A 3 6A 158 : 6A 7A
MAEESB
ZERNE / ZTERH
ZBERE : [1RR 2R BORE--AICHEI3ed. BAES -FIAESONREEETS. (119N : 0B 3 AL 1iRIE8 A 2iRIB8 A) ZEEREH SH5$4818

- REEF2 2BUECRIPEEE. BEREMHEZELICL.

(1) miEgE p=2:4 EE ]
- AIREXEEICEOERE, FLEX(G 2 mICHLZBVSIE 1 ACDE3.3mME 0m%)2 3.3m x 3A = 9.9 mi
- REEXIBHREOEER. 75 2 U EOHE 1 AlCDE1.98mM £ =) 1R 3.3m x 8A = 26.4 m
2R LE 1.98m x 8A = 15.8 mi
a5 52.1m < 53.7 mi
(2) s=fmE%E
FLIR X (&3 2 mRICHEIE RV R AP B SRR
- AREXRBENE. EBE. HEE. FhERIT5E. BE  EEDD
7 2 A _EOMRE AR BhfER%
- REEXGEHE. BIMESS(FHEORBBMEZE0). BIEE. Eziiisie. BE  FfEdD p=2:4 #
- BINERISOERAE. 7 2 R E0%hIE 1 ACDE3.3mMBE BES  EEEE 3.3m x 8A = 26.4 m < 203.2m

XRBEE : BRAE

EMNEEY). ERREER(FA). BSOS (FA - BEA)HD

(1) MEREEEERBLTLSN.

BE xR (EE)

(2) REL. REEE. FESZEEL TSN,

BHE RELED

EIN

IEEE

2N

RERSEE IUN

KIBEBREANIRADZSE, FHESTE UEEAES ERISCBA(FIYE RIS RS R EEERE SHE(EHERER)
SRS 1A
(3) RELTOH p=2:4 EE ]
0m&)2 : 3AIDEL AL 0%R 3A + 3 = 1.0A
1. 2/%E 6 AMDE1 AL =) 1. 2i%R 16N + 6 = 2.6A
(NRRRESEMAZGEED FORELTZERE. BEFEEOFHU LORELEZRETHIL) &it+1  5.0A < 6.0A
XEFWRIEYE | MEE 2 IIDIET. &5t INERRUTIERA (MREEICHI MBI, BHRET4+EYREIFEDRELI+EBHREMFELN)
L
(1) BERE BE  EEESHH - REE 1ALE =< S 1A

(1) BEEFERPEXGAROLSDECHERFIREZEDH TS,

BE  WEFHOZHTELZE

=
2

(2) EERECHERBIEZEDH TN,

BE  WESEOZH T EZRER




